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(2) Fe203 + 3CO — 2Fe + 3CO2
(8Fe203 + CO — 2Fes04 + CO2 %, )
M 6 SiO2 + 2NaOH — NazSiOs + H20
fi 7 ZHLETH D,
(1) | PbO2 + 4H* + SO42~ + 2e~ — PbSO4 + 2H20
(2) | 2PbS04 + 2H20 — Pb + PbO2 + 2H2S04
EMG - AR BICBEREOBEE GBS (D) MB35, (ABRITEBOANERA
(3) | &z, EBAITEEICERT D, REBRAIIIERS (1) 2360, IEMRITEERS (1) 25
kg (V) BT 2, )
8 AE
HWmaE s EMEROEEIL
3.92x1072 g/em® x 1.00x103cm®* =392 ¢
FETIL, BETF Imol H729 H,0 28 I mol | L (DDOHRIGRE D),
N DL E HS04 A I mol T2 (QDRISED),
roT, RKDEIZYWEEIT \
39.2 g/(98.0 g/mol - 18.0 g/mol) = 0.490 mol
Py 0.490 mol
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RIS, FR{LE
(a) Zn + HpS04 — ZnSO4 + Hz H:+1 50
RIS R
(b) 2 Ha02 — 2 H0 + O3 0:-1 -0
RIS me LB
M1 CaCOs + 2 HCl — CaCly + H20 + CO; X
BUEH R (LK
(d) FeS + 2 HCl — FeCly + H,S X
Rz T
(e) | 2 NH4CI + Ca(OH)2 — CaClz + 2 H20 + 2 NH3 X
(a) AR HE A
B2
(e) AW, 2B & 0 IR
o3 MnO; % H#C9~, MnO2 DRI Z2 M < §5, HoO DIRE R LiF' 5, BES i3 %
R 4 A FACEE ONED Zn> He > Pt 7205 (EHEBERBA OIED Zn < Ha <Pt 7200 5)
(1) 25 L (2) 0.039 mol
5 5 [(3) 7K
(4) 8.7 x 102 Pa
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N,=2N-928%kJ...©
H,=2H-432kJ ...®
NH;=N+3H-386kix3,.®
Y N2+3H;=2NH; + 0 D TO + @x3- @x2 &
O =-928 — 432x3 + 386x3x2 = 92 kJ
o 92 K
[NH;]? Py
i A K, = v = 2 - K. = K,R*T?
[N 1H, P P Py, P, | '
i (a) (6.0 —2.0) x 2 = 8.0 mol (b) 4.0%(1.0x3.0%) = 5.9x10~" L¥mol?
10.0-2x=8.0 £V x=1.0MPa 2D T
BRI 351 A E ST, N2: 15 MPa
i (a) 2.5-x+75~3x+2 (b)
=10.0 - 2x Hz: 45 MPa
NHs: 20 MPa
i Eh%E L, BEE2TIT5,
i T =T ERORIGEEIIEMT 25, £RBIIEDL RN,
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